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Algebra 2
ID: 1

Name___________________________________

  Period____Date________________
©f l200j122s xKSuwtWa2 4SUoRfQtVwCaJr2e7 ALRL7Cv.0 V MAQlNl K cr0i pgRh0t9sb OrKeGsxeurGvjeTdl.w
Functions

Perform the indicated operation.

1)  

  

g(

  

a) = 

 

3

  

a − 1

  

h(

  

a) = 

   

a2 − 4

  

a
Find (

   

g  

  

h)(

  

a)

2)  

  

f (

  

x) = 

   

x3 + 3

  

x
Find (

   

f   

  

f )(

  

x)

3)  

  

g(

  

n) = 

 

4

  

n − 4

  

h(

  

n) = 

   

n − 5
Find (

   

g  

  

h)(

  

n)

4)  

  

f (

  

n) = 

   

n3 − 1 + 

  

n

  

g(

  

n) = 

 

4

  

n + 1
Find (

   

f   

  

g)(

  

n)

5)  

  

h(

  

x) = 

   

x − 5

  

g(

  

x) = 

   

x3 − 5
Find (

   

h  

  

g)(

  

x)

6)  

  

g(

  

x) = 

   

x − 4

  

h(

  

x) = 

   

x3 − 5

  

x2

Find (

   

g  

  

h)(

  

x)

-1-
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7)  

  

f (

  

x) = 4

  

x
Find (

   

f   

  

f )(

  

x)
8)  

  

f (

  

a) = 

 

−4

  

a + 2

  

g(

  

a) = 

 

−

  

a2 − 1
Find (

   

f   

  

g)(

  

a)

9)  

  

g(

  

t) = 

   

t + 2

  

f (

  

t) = 

   

t3 − 

  

t2

Find (

   

g  

  

f )(

  

t)

10)  

  

f (

  

t) = 

 

4

  

t − 5

  

g(

  

t) = 

 

3

  

t2 − 5
Find (

   

f   

  

g)(

  

t)

11)  

  

g(

  

t) = 

 

2

  

t2 − 5

  

t

  

f (

  

t) = 

 

3

  

t − 3
Find (

   

g  

  

f )(

  

t)

12)  

  

g(

  

x) = 

 

2

  

x − 4

  

h(

  

x) = 

   

x − 5
Find (

   

g  

  

h)(

  

x)
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13)  

  

h(

  

n) = 

 

4

  

n + 1

  

g(

  

n) = 

   

n3 − 5

  

n2

Find (

   

h  

  

g)(

  

n)

14)  

  

h(

  

a) = 

   

a2 + 3

  

a

  

g(

  

a) = 

   

a − 4
Find (

   

h  

  

g)(

  

a)

15)  

  

g(

  

x) = 

 

2

  

x − 1

  

h(

  

x) = 

   

x2 + 3

  

x
Find (

   

g  

  

h)(

  

x)

16)  

  

g(

  

x) = 

 

−3

  

x + 1

  

h(

  

x) = 

   

x2 + 2
Find (

   

g  

  

h)(2)

17)  

  

f (

  

x) = 

 

−2

  

x − 1

  

g(

  

x) = 

   

x2 + 2

  

x
Find (

   

f   

  

g)(8)

18)  

  

g(

  

a) = 2

  

a

  

f (

  

a) = 

   

a3 + 1
Find (

   

g  

  

f )(−1)
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19)  

  

f (

  

x) = 

 

−4

  

x − 2
Find (

   

f   

  

f )(−1)
20)  

  

g(

  

t) = 

   

t − 4
Find (

   

g  

  

g)(10)

21)  

  

g(

  

a) = 

 

2

  

a − 4

  

f (

  

a) = 

 

2

  

a + 4
Find (

    

g − 

 

2

  

f )(

  

a)

22)  

  

f (

  

n) = 

   

n2 − 4

  

n

  

g(

  

n) = 

 

−

  

n − 4
Find (

  

4

  

f  − 

 

4

  

g)(

  

n)

23)  

  

g(

  

x) = 

 

−

  

x2 − 5

  

h(

  

x) = 

 

3

  

x − 5
Find (

    

g + 

 

3

  

h)(

  

x)

24)  

  

h(

  

n) = 

 

2

  

n − 4

  

g(

  

n) = 

 

3

  

n + 3
Find (

  

4

  

h − 

 

3

  

g)(

  

n)
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25)  

  

f (

  

x) = 

 

3

  

x − 4

  

g(

  

x) = 

 

3

  

x − 2
Find (

  

3

  

f  + 

 

3

  

g)(

  

x)

26)  

  

g(

  

x) = 

 

2

  

x + 1

  

h(

  

x) = 

 

−4

  

x − 4
Find (

  

5

  

g + 

 

3

  

h)(−10)

27)  

  

g(

  

n) = 

   

n − 5

  

h(

  

n) = 

 

3

  

n − 3
Find (

    

g + 

 

4

  

h)(10)

28)  

  

g(

  

x) = 

 

2

  

x + 4

  

f (

  

x) = 

   

x + 1
Find (

  

3

  

g + 

 

4

  

f )(5)

29)  

  

g(

  

n) = 

   

n2 − 4

  

n

  

h(

  

n) = 

 

2

  

n − 4
Find (

  

5

  

g + 

 

5

  

h)(−2)

30)  

  

f (

  

n) = −4

  

n

  

g(

  

n) = 

   

n3 − 4

  

n
Find (

  

2

  

f  − 

 

3

  

g)(2)
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Answers to Functions (ID: 1)

1)  

 

3

  

a2 − 12

  

a − 1 2)  

   

x9 + 9

  

x7 + 27

  

x5 + 30

  

x3 + 9

  

x 3)  

 

4

  

n − 24
4)  

 

64

  

n3 + 48

  

n2 + 16

  

n + 1 5)  

   

x3 − 10 6)  

   

x3 − 5

  

x2 − 4
7)  16

  

x 8)  

 

4

  

a2 + 6 9)  

   

t3 − 

  

t2 + 2 10)  

 

12

  

t2 − 25
11)  

 

18

  

t2 − 51

  

t + 33 12)  

 

2

  

x − 14 13)  

 

4

  

n3 − 20

  

n2 + 1 14)  

   

a2 − 5

  

a + 4
15)  

 

2

  

x2 + 6

  

x − 1 16)  −17 17)  −161 18)  0
19)  −10 20)  2 21)  

 

−2

  

a − 12 22)  

 

4

  

n2 − 12

  

n + 16
23)  

 

−

  

x2 + 9

  

x − 20 24)  

 

−

  

n − 25 25)  

 

18

  

x − 18 26)  13
27)  113 28)  66 29)  20 30)  −16


